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ENGLISH LANGUAGE TEST total score 50 points

PART 1 (tasks 1-10, 20 pts)

Read the sentences and write the correct answers that fit into the gaps (A, B or C) on your answer sheet. 6 pts
1. Takeiteasy.lreallydon'tmind ___ afew weeks.

A wait B towait C waiting
2. AlanTuring,  diedin 1954, was the father of computer science.

A who B that C which
3. What___ on Friday afternoon? Can we meet?

A did youdo B are you doing C willyoudo
Choose the correct word to keep a similar meaning of the sentence. Write your answer (A, B, C or D) on 2 pts
your answer sheet.

4.  Despite making a more expensive bid, we have won the contract.

A Although we putin... B Because we putin... C So that putting in... D For puttingin...
Choose the correct answer and write it on your answer sheet (A or B). 2 pts
5.  Who did you tell?

A |told Sue. B Sue told me.

Identify whether the following sentence asks for information (A) or action (B). Write your answer (A or B) 2 pts
on your answer sheet.
6. lwonder if you would mind sending me a new manual for the Creatif software Version 5.0?

A information B Action
Choose the word which best fits each gap. Mark the correct letter A, B or C on your answer sheet. 2 pts
7. Donnasentinher __ forthe job.

A applyment B apply C Application
8. One of the following telephone conversations is INCORRECT. Which one is it? Mark the letter A, B, or 2 pts

C on your answer sheet.

A A:Could I have the sales department, please?

B: Oh, one moment, please. Just putting you through now.
B A:Can | have extension 305, please?
B: I'm afraid the line is engaged, will you hold?
C A: Hello, could | speak to Mr. White, please?
B: Answering. How can | help you?
Find the right solution to the problem. Write your answer (A, B, C or D) on your answer sheet. 2 pts
9. lcan’t understand these figures.
A [I'll take you to the B Please have alow-fat € [I'll explain them to D [I'll call the messenger.
store. dessert on the house. you.
Provide a definition of the following, mark the correct word A, B, or C. 2 pts

10. The loss of a job on the part of an employee because there is no longer any work.

A currency B redundancy C occupancy



PART 2 (tasks 11-20, 30 pts)

Complete the text with the words from the boxes. Mark the correct letter (A, B, C or D) on your answer 15 pts

sheet.
The recent history of the company is a tremendous success story. Over the last four years the group has 11)
enormously. It now operates in 70 countries, and the number of shops worldwide has 12) from 2,000 to
3,000. In this time the group has 13) two new chains, and has opened 200 new shops in Japan and 300 in
the rest of the world. This year, net revenues have 14) a level of €8 million. All its activities are controlled
from Tokyo, where the group has recently 15) into new headquarters.

11. A made B grown C launched D reached

12. A turned B made C increased D reached

13. A moved B remained C attached D launched

14. A made B reached C increased D grown

15. A made B moved C launched D reached

Match the description to one of the graphs (a-d). Mark the correct letter (A, B, C or D) on your answer 3 pts

sheet.

16. The level of investment rose suddenly.
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Read the advertisement below for a hot drinks machine. Mark each statement under the text A (true), B
(false) or C (the text doesn’t say) on your answer sheet.

ADVERTISING FEATURE
Save money and keep your staff happy

It can be expensive to keep the canteen open to serve drinks to your staff through the day.
Our QVM hot drinks machine replaces this service, so that you can close the canteen
between mealtimes.

You can install the QVM hot drinks machine anywhere in the building. One machine is
Suitable for a staff of ten to fifteen people. It costs £1,300 to buy, or £11.00 per week to rent
over 60 months. It is not expensive to operate: for example, the cost of power for one day
is 30p, nearly as cheap as the price of one hot drink from the machine.

Our company will carry out a weekly service, at a charge of £10.00. We can also refill the
machine with drinks ingredients for an extra charge of £8.00. Some customers prefer to do
this themselves, however.

There are eight choices of hot drink available from the QVM machine, and our company
offers one month’s trial free of charge, so that you can estimate how popular the machine
will be and what the actual savings are.
https://www.cambridge-exams.ch/sites/default/files/bec_p_reading_and_writing.pdf

Doesn’t
say

A B C

True False

17. With a QVM machine, companies can avoid having a canteen altogether.

18. Most customers prefer to rent the QVM machine over sixty months. A B C

19. Customers can refill their machines with drinks ingredients, if they want to. A B C

9 pts

Read the following message, mark one explanation (A, B or C) on your answer sheet. 3 pts

20. Add any comments to our proposal in pencil — these will then be discussed at the next committee meeting.

https://www.233.com/bec/tiku/chapter/chuji/20140820/083459885.html
The meeting will consider

A the company’s plans for the future.
the performance of the committee.

C suggested changes to the document.



VZOROVY TEST ZE ZAKLADU EXAKTNICH VED

1. Vyfteste soustavu linearnich rovnic
20 +y+ 2= —1,

e —y—2z2=17

—xr+z=—6

varianty odpovédi

a)r=1/2,y=3,2=-5

r+r+1
Xz

7

2. Vypocitejte hodnotu derivace f(x) = v bodé zg =4

varianty odpoveédi



VZOROVY TEST ZE ZAKLADU EXAKTNICH VED

¢ /lnzY
3. Vypoctéte hodnotu uréitého integralu / (—) dx
L\

varianty odpovédi

a)

W —

o
N—
Wl N

d) 0
4. Vypocitejte danou limitu lim (vn? — 3n + 2 —n)

n—oo

varianty odpoveédi

5. Vypoctéte smérodatnou odchylku s, z téchto udaju: 17,48;17,55;17,50;17,44;17,55
varianty odpoveédi

a) s, = 0,04224
b) s, = 0,04722
¢) s, = 0,05323

d) s, = 0,03234



VZOROVY TEST ZE ZAKLADU EXAKTNICH VED

6. Vypoctéte kvartily z téchto udaju: 17,48;17,55;17,50;17,44;17,55,17,49; 17, 51;
17,50;17,53; 17, 49.

varianty odpovédi

a) Zo,25 = 17, 497 Zo,75 = 17, 53

b) Zo,25 = 17, 48, Xo,75 = 17, 50

C) To,25 = 17, 49, Zo,75 = 17, 55

d) .730725 = 17, 48, $0,75 = 17, 53



VZOROVY TEST ZE ZAKLADU EXAKTNICH VED
PODNIKOVE FINANCE — OTAZKY ZA 2 BODY

1. Podnikovy majetek predstavuje

a) soubor hmotnych i nehmotnych aktiv podniku, které podnik vlastni za Gcelem
jejich zhodnocovani, podnikani a organizace své ¢innosti

b) souhrn vSech penéznich prostfedkd v majetku podniku k uréitému okamziku

c) hotovost, vklady na bankovnich uctech, cenné papiry penéziniho trhu drzené
podnikem, cenné papiry, majetkové ucasti

d) souhrn penéz, které podnik ziskd béhem urcitého obdobi prodejem svych vyrobki
a sluzeb

2. Penéini prostfedky podniku predstavuji

a) vysoce likvidni financ¢ni aktiva podniku v podobé hotovosti a vkladl na béznych
uctech

b) souhrn vSech penéz vlozenych do kratkodobych cennych papirQ

c) hotovost, vklady na bankovnich uctech, cenné papiry penézniho trhu drzené
podnikem, dlouhodobé cenné papiry, majetkové ucasti

d) souhrn vsech penéz, které podnik ziskd béhem urcitého obdobi prodejem svych
vyrobk( a sluzeb

3. Hlavni funkci penéznich prostredki je
a) zabezpecit likviditu (platebni schopnost) podniku
b) zabezpecit rentabilitu podniku
c) zabezpecit dlouhodobé financni stabilitu podniku
d) zabezpecit narlst trzniho podilu

4, Z pohledu dluznika je urok
a) cenou Uvéru
b) rozdil mezi nominalni trokovou mirou a inflaci
c) vynos za podstoupené investicni riziko
d) odménou za podstoupené riziko



VZOROVY TEST ZE ZAKLADU EXAKTNICH VED
PODNIKOVE FINANCE — OTAZKY ZA 3 BODY

5. Obézny majetek pfedstavuje

a) Cast majetku podniku, ktery se pouziva kratkodobé, tj. zpravidla s dobou
vyuzitelnosti v horizontu jednoho roku. V soucéasnosti se vymezuje fakticky
neprimo: za obézny majetek se povazuje celkovy majetek podniku, snizeny o
dlouhodoby majetek podniku

b) cast aktiv podniku v podobé penéz a riznych forem vklad

c) Ccast aktiv podniku v podobé penéz, zbozi a materidlu

d) souhrn penéz, které podnik ziskd béhem urcitého obdobi prodejem svych vyrobki
a sluzeb

6. Kratkodobym financovanim rozumime
a) financovani obézného majetku z kratkodobych financnich zdroja
b) platebni schopnost podniku
c) financovani kratkodobého majetku
d) financovani prostiednictvim kratkodobych avéra

7. Za podstatnou vyhodu obchodniho Uvéru povazujeme
a) obchodni avéry se stavaji trvalym zdrojem financovani podniku
b) obchodni Uvéry se stavaji trvalym zdrojem zisku
c) jejich dlouhou dobu splatnosti
d) jejich nizkou urokovou sazbu

8. Urok predstavuje
a) z pohledu véritele odménu za podstoupené riziko
b) z pohledu dluznika odménu za podstoupené riziko
¢) rozdil mezi nominalni a redlnou Urokovou sazbou
d) rozdil mezi redlnou a nominalni urokovou sazbou
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